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XI-BIOLOGY 1

No. of pages - 23 
PRACTICE PAPER-1 (2021-22) 

CLASS : XI 
SUBJECT: BIOLOGY (044) 

Time Allowed : 90 Min. Maximum Marks : 35 
le; % 90 feuV vf/dre vad & 35 
lkekU; funsZ'k& 

1- bl iz'u i=k esa rhu [kaM gSaA 

2- [kaM v esa 24 iz'u gSaA dksbZ 20 iz'u gy dhft,A 

3- [kaM c esa 24 iz'u gSaA dksbZ 20 iz'u gy dhft,A 

4- [kaM l esa 12 iz'u gSaA dksbZ 10 iz'u gy dhft,A 

5- lHkh iz'uksa ds vad leku gSaA 

6- fdlh Hkh iz'u dk Í.kkRed vad ugha gSaA 
General Instruction- 
1.  The question paper contains three sections. 
2.  Section A has 24 questions. Attempt any 20 questions. 
3. Section B has 24 questions. Attempt any 20 questions. 
4. Section C has 12 questions. Attempt any 10 questions. 
5. All questions carry equal marks.  
6. There is no negative marking for any question. 

************** 
[kaM&v (Section-A) 

[kaM&v esa 24 iz'u gSa] bl [kaM ls fdUgha 20 iz'uksa dks gy dhft,A gy fd;s x, 

izFke 20 iz'uksa dk ewY;kadu fd;k tk,xkA 

Section-A consists of 24 questions. Attempt any 20 questions from this section. 
The first 20 attempted questions will be evaluated. 
1. ICZN dk foLrkfjr :i gS & 

 (a) baVjus'kuy dksM vkWiQ tkbekstu ukeuDyspj  

 (b)  baVjus'kuy dkslZ vkWiQ twyksftdy ukeuDyspj 

 (c) baVjus'kuy dksM vkWiQ twyksftdy ukeuDyspj 

 (d)  bafM;u dksM vkWiQ twyksfudy ukeuDyspj 
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 ICZN stands for: 

 (a) International code of Zymogen nomenclature 

 (b) International course of Zoological nomenclature 

 (c) International code of Zoological nomenclature 

 (d) Indian code of Zoological nomenclature 

2- fuEu esa ls dkSu isjkehfMu ugha gS & 

 (a) ,Mhuhu (b) lkbVkslhu 

 (c) ;wjkfly (d) Fkk;ehu 

 Which of the following is not a pyramidine: 

 (a) Adenine (b) Cytosine  

 (c) Uracil (d) Thymine 

3- is'kh dks vfLFk ls tksM+rs gSa & 

 (a) dkjVhyst (b) ,Mhikst mÙkd  

 (c) VsaMu  (Tendon) (d) fyxkesaV 

 Muscle are joined to bone by : 

 (a) Cartilage (b) Adipose tissue  

 (c) Tendon (d) Ligament 

4- xsgw¡ dk oSKkfud uke gS & 

 (a) fVªfVde bafMdk (b) fVªfVde isQfyl  

 (c) fVªfVde lrhok (d) fVªfVde ,LVhoe 
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 Scientific name of wheat is : 

 (a) Triticum indica (b) Triticum felis  

 (c) Triticum sativa (d) Triticum aestivum 

5- 

 

 mQij fn, x, dkSu ls fodYi esa fLi#yk thok.kq fn[kk;k x;k gS & 

 
 From the above shown diagram which represents the structure of spirilla 

bacteria. 

6- vkjdhcsDVhfj;k fdl txr esa lfEefyr gSa & 

 (a) ikni (b) izksfVLVk  

 (c) eksusjk (d) buesa ls dksbZ ugha 

 Archaebacteria are included in kingdom: 

 (a) Plantae (b) Protista  

 (c) Monera (d) None of these 

7- iq"i esa dkSu&dkSu ls ny gksrs gSa & 

 (a) ckány] ia[kqMh] iqeax] czsDV (b) ia[kqMh] ckány] tk;kax] czsDV 

 (c) ckány] ia[kqMh] iqeax] tk;kax (d) ia[kqMh] iqeax] tk;kax 
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 Name the different whorls of flower : 

 (a) Calyx, Corolla, Androecium, Bract 

 (b) Corolla, Calyx, Gynoecium, Bract 

 (c) Calyx, Corolla, Androecium, Gynoecium 

 (d) Corolla, Androecium, Gynoecium 

8- oa'k rFkk x.k ds chp esa dkSu lk ofxZdh laoxZ vkrk gS & 

 (a) txr (b) la?k  

 (c) oqQy (d) oxZ 

 Which taxonomical category lies between Genus and order : 

 (a) Kingdom (b) Phylum  

 (c) Family (d) Class 

9- iq"i ds ySafxd vaxksa ds uke gS & 

 (a) dsfyDl o tk;kax (b) dksjksyk o tk;kax  

 (c) dsfyDl o dksjksyk (d) iqeax o tk;kax 

 The reproductive organ of flower are : 

 (a) Calyx and Gynoecium (b) Corolla and Gynoecium  

 (c) Calyx & Corolla (d) Androecium & Gynoecium 

10- dkasMªhDFkht eNyh gS & 

 (a) LdksfyMku (b) isVªksekbtu  

 (c) fgIiksdsEil (d) LVkj eNyh 
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 Chondrichthyes fish is : 

 (a) Scoliodon (b) Petromyzen  

 (c) Hippocampus (d) Starfish 

11- xfrZdk o olk mQrd izdkj gSa & 

 (a) l?ku la;ksth mQrd (b) f'kfFky la;ksth mQrd  

 (c) is'kh; mQrd (d) midyk mQrd 

 Areolar and Adipose tissues are type of : 

 (a) Dense connective tissue (b) Lose connective tissue  

 (c) Muscular tissue (d) Epithelial tissue 

12- cfg%lzkoh rFkk var%lzkoh xzafFk;k ,d nwljs ls fHkUu gS D;ksafd & 

 (a) cfg%lzkoh xzafFk;k¡ esa ufydk gS tcfd var%lzkoh xzafFk;ksa esa ughaA 

(b) cfg%lzkoh xzafFk;k¡ vius mRikn dks y{; vax ij lh/s NksM+rh gS tcfd 

var%lzkoh xzafFk;ksa viuk mRikn ml rjy esa NksM+rh gS ftlesa ;g fLFkr gSA 

 (c) nksuksa (a) rFkk (b) 

 (d) mijksDr esa ls dksbZ Hkh ughaA 

 Exocrine and endocrine glands are different from each other because: 

 (a) Exocrine gland bear ducts while endocrine do not. 

(b) Exocrine gland secret hormone directly to target organ by duct while 
endocrine secret hormone into the fluid in which gland is situated. 

 (c) Both (a) and (b). 

 (d) None of the above is correct. 
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13- fofj;ksbM ds [kkstdrkZ gS & 

 (a) ,e- MCY;w cstfjfud (b) jkcVZ gqd 

 (c) csaFke (d) Vh-vks- Mkbuj 

 Viroids were discovered by: 

 (a) M.W. Beijernek (b) Robert Hook 

 (c) Bentham (d) T.O. Diener 

14- ^^xsek di** czk;ksiQkbV esa fdl izdkj ls tuu dk dk;Z djrs gSa & 

 (a) vySafxd tuu (b) dkf;d izo/Zu  

 (c) ySafxd tuu (d) ckbujh fiQtu ;k ckbujh fo[k.Mu 

 “Gemma Cup” in Bryophytes performs the function of reproduction by : 

 (a) Asexual reproduction (b) Vegetative propagation 

 (c) Sexual reproduction (d) Binary fission 

15- iq"i lw=k esa ‘K’ rFkk ‘C’ D;k fu#fir djrs gSa\ 

 (a) dksjksyk o dsfyDl (b) dsfyDl o dksjksyk 

 (c) dsfyDl o tk;kax (d) dsfyDl o iqeax 

 What ‘K’ and ‘C’ denote in floral formula? 

 (a) Corolla and Calyx (b) Calyx and Corolla 

 (c) Calyx and Gynoecium (d) Calyx and Androecium 

16- xzke /ukRed rFkk xzke Í.kkRed thok.kq ,d nwljs ls D;kas fHkUu gS & 

 (a) nksuksa ij vyx&vyx vkos'k gSA 
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(b) xzke /ukRed thok.kq xzke vfHkjatd dks ys ysrs gSa tcfd xzke Í.kkRed 

ugha ys ikrsA 

(c) xzke /ukRed thok.kq xzke vfHkatju dks ugha ysrs tcfd xzke Í.kkRed ys 

ysrs gSaA 

 (d) xzke /ukRed cSDVhfj;k thok.kq ugha gS tcfd xzke Í.kkRed thok.kq gSaA 

 Gram positive and Gram negative bacteria are different from each other 
because: 

 (a) Both bacteria carry different charges. 

(b) Gram positive bacteria actively take up gram stain while Gram 
negative bacteria do not take up gram stain. 

(c) Gram positive bacteria do not take up Gram stain while Gram 
negative bacteria take up Gram stain. 

(d) Gram positive bacteria are not bacteria while Gram negative bacteria 
are bacteria. 

17- dkSu ls dksf'dkax dks ^ikoj gkmQl* dgk tkrk gS & 

 (a) IykfLVM (b) dsanzd  

 (c) ekbVksdksafMª;k (d) dksf'kdk nzO; 

 Which organelle of cell is called as “Power House” : 

 (a) Plastids (b) Nucleus  

 (c) Mitochondria (d) Cytoplasm 

18- uhps euq"; dk oSKkfud uke fn;k x;k gS lgh fy[ks uke dks igpkusa & 

 (a) Home sapiens (b) Homo sapiens  

 (c) Homo sapiens (d) Home sapiens 
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 Given below is the scientific name of human, identify the correctly written 
name: 

 (a) Home sapiens (b) Homo sapiens  

 (c) Homo sapiens (d) Home sapiens 

19- iq"i ds vk/kj ij NksVh&NksVh ifÙk;k¡ dgykrh gSa & 

 (a) (lgi=kh) lgi=k (b) iqeax  

 (c) dsfyDl (d) buesa ls dksbZ ugha 

 Reduced leaf present at the base of pedicel of flower are termed as: 

 (a) Bract (Bracteate) (b) Androecium  

 (c) Calyx (d) None of the above 

20- dkSu lk thok.kq xk; ,oa HkSl (:feusaV i'kqvksa) dh vka=k esa ik, tkrs gSa & 

 (a) ;wcsDVhfj;k (b) ehFksukstu  

 (c) gsyksiQkby (d) FkeksZiQkby 

 Which bacteria found in the gut of cow and buffaloes (ruminant animals): 

 (a) Eubacteria (b) Methanogen  

 (c) Halophiles (d) Thermophile 

21- vehuks vEy tqM+s gksrs gSa & 

 (a) vk;fud vkca/ (b) dksosysaV vkca/ 

 (c) isiVkbM vkca/ (d) iQksLisQV vkca/ 

 Amino acids are linked by : 

 (a) Ionic bond (b) Covalent bond  

 (c) Peptide bond (d) Phosphate bond 
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22- DNA dh lajpuk dh [kkst fdlus dh\ 

 (a) ,-ih- gDtys (b) ts-lh- cksl 

 (c) ,fjlVksVy (d) okVlu o fozQd 

 Who discovered the structure of DNA? 

 (a) A.P. Huxley (b) J.C. Bose  

 (c) Aristotle (d) Watson & Crick 

23- buesa ls dkSu lk laxBu dk Lrj ugha gS & 

 (a) dksf'kdk Lrj (b) xqgk  

 (c) mQrd Lrj (d) vax Lrj 

 Which of the following is not a level of organistion: 

 (a) Cellular level (b) Coelom  

 (c) Tissue level (d) Organ level 

24- ^^vkseful lsyqy&b&lsyqyk** ls vki D;k le>rs gSa & 

 (a) dksf'kdk vfoHkkT; gSaA 

 (b) dksf'kdk,¡ iqjkuh dksf'kdkvksa ls :ikarfjr gksrh gSaA 

 (c) ubZ dksf'kdkvksa dk fuekZ.k iwoZ fLFkr dksf'kdkvksa ds foHkktu ls gksrk gSA 

 (d) buesa ls dksbZ ughaA 

 “Omnis Cellula-e-Cellula” is the statement which explains: 

 (a) Cells are non-divisible 

 (b) Cells are modified from pre-existing cells. 

 (c) Pre-existing cells give rise to new cell by division. 

 (d) None of the above. 
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[kaM&c 

[kaM&c esa 24 iz'u gSa (Øe la[;k 25 ls 48)A bl [kaM ls fdUgha 20 iz'uksa dk 

mÙkj nhft,A igys mÙkfjr 20 iz'uksa dk ewY;kadu fd;k tk,xkA 

iz'u la[;k 25 ls 28 esa nks dFku gSa & vfHkdFku (A) vkSj dkj.k (R)A uhps fn;s x;s 
mi;qDr fodYi dk p;u djrs gq, bu iz'uksa ds mÙkj nhft, & 

(a) vfHkdFku rFkk dkj.k nksuksa lR; gSa] rFkk dkj.k vfHkdFku dh lgh O;k[;k djrk 

gSA 

(b) vfHkdFku rFkk dkj.k nksuksa lR; gSa] rFkk dkj.k vfHkdFku dh lgh O;k[;k ugha 

djrk gSA 

(c) vfHkdFku lR; gS] rFkk dkj.k vlR; gSA 

(d) vfHkdFku vlR; gS] rFkk dkj.k lR; gSA 

Section-B 

Section-B consists of 24 questions (Sl.No.25 to 48). Attempt any 20 questions 
from this section. The first 20 attempted questions will be evaluated. 

Question No. 25 to 28 consist of two statements – Assertion (A) and Reason (R). 
Answer these questions selecting the appropriate option given below: 

(a) Both Assertion and Reason are true and Reason is the correct explanation of 
Assertion. 

(b) Both Assertion and Reason are true and Reason is not correct explanation of 
Assertion. 

(c) Assertion is true but Reason is false. 

(d) Assertion is false but Reason is true. 
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25- vfHkdFku % LykbMsu o 'oku us dksf'kdk fl¼kar izfrikfnr fd;kA 

 dkj.k % budk fl¼kar ;g crkus esa vliQy jgk fd ubZ dksf'kdkvksa dk fuekZ.k 

dSls gksrk gSA 

 Assertion: Schleiden and Schwann together formulated the cell theory. 

 Reason: Their theory was unable to illustrate the formation of new cells. 

26- vfHkdFku % dkozQksp esa [kqyk ifjlapj.k ra=k gksrk gSA 

 dkj.k % bl ra=k esa jDr dk cgko ân; ls lh/s ckgj Hkstk tkrk gS rFkk dksf'kdk 

,oa mQrd mlesa Mwcs jgrs gSA 

 Assertion: Cockroach have open circulatory stem. 

 Reason: In this system blood is pumped out of the heart and the cells and 
tissues are directly bathed into it. 

27- vfHkdFku % la?k flysUVªsVk esa nks izdkj ds vkdkj gksrs gSa iksfyi rFkk esMqlkA 

 dkj.k % esMqlk N=kh ds vkdkj dk tcfd iksfyi LFkkoj gSA 

 Assertion: Phylum coelentrata exhibit two body form Polyp and Medusa. 

 Reason: Medusa is umbrella shaped and Polyp have sessile form. 

28- vfHkdFku % (pk;ukjks”k) xqMgy dk iwQy mHk;fyaxh gSA 

 dkj.k % mHk;fyaxh iq"i og gS ftlesa iaqdslj ;k tk;kax gksrk gSA 

 Assertion: Chins Rose is a bisexual flower. 

 Reason: Bisexual flowers are those which have either androecium or 
Gynoecium. 

29- ykbdsu fdl izdkj ds iznw"k.k dks iznf'kZr djrh gS & 

 (a) ty (b) ok;q  

 (c) e`nk (d) èofu 
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 Which type of pollution is indicated through lichens : 

 (a) Water (b) Air  

 (c) Soil (d) Sound 

30- r'rjh ds vkdkj dh vkd`fr tks xq.klw=kfcanq ds ikl gksrh gS] og gS & 

 (a) f}rh;d ladhZ.ku (b) izkFkfed ladhZ.ku  

 (c) dkbusVksdkj (d) fgLVksu 

 Disc like structure near the centromere is : 

 (a) Secondary constriction (b) Primary constriction 

 (c) Kinetochore (d) Histone 

31- 'kYdh] ?kukdkjk rFkk LraHkkdkj mQrd fdl tUrq mQrd ds izdkj gSa & 

 (a) la;ksth mQrd (b) midyk mQrd 

 (c) is'kh mQrd (d) raf=kdk mQrd 

 Which animal tissue have the types of squemous, columnar and cuboidal: 

 (a) Connective tissue (b) Epithelial tissue  

 (c) Muscular tissue (d) Nervous tissue 

32- yky jDr dksf'kdkvksa dk jax yky gS D;ksafd blesa gS & 

 (a) iQkbdksbjhFkjhu (b) gheksXykschu  

 (c) ek;ksXykschu (d) gheksfl;kfuu 

 Red blood corpuscles are red in colour because they have: 

 (a) Phycoerythrin (b) Haemoglobin  

 (c) Myoglobin (d) Haemocyanin 
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33- ,dO;klefer iq"i os iq"i gS ftUgsa dsoy ,d fo'ks"k mèokZ/j lery ls leku 

Hkkxksa esa foHkDr fd;k tk ldsA blds mnkgj.k gSa& 

 (a) ljlksa o /rwjk (b) dsuk  

 (c) a rFkk b nksuksa (d) eVj o xqyeksgj 

 Zygomorphic flower are those which can be divided equally after cutting 
them only in one particular plane. Example of such flower are : 

 (a) Mustard  & Datura (b) Canna 

 (c) Both (a) and (b) (d) Pea and Gulmohar 

34- iq"i lw=k esa tk;kax o iqeax dks fdu fpUgksa }kjk iznf'kZr fd;k tkrk gS\ 

 (a) G rFkk A (b) A rFkk G 

 (c) K rFkk C (d) C rFkk P 

 In a floral formula Androecium and Gynoecium are represented by: 

 (a) G and A (b) A and G 

 (c) K and C (d) C and P 

35- ty laogu ra=k rFkk dSfYl;e ;qDr var%dadky ------ la?k ds izkf.k;ksa esa ik;k tkrk 

gS\ 

 (a) iksjhisQjk (b) gsehdksjMsVk 

 (c) bdhuksMjesVk (d) ,uhfyMk 

 The organism of phylum _____have the main characteristics of bearing 
water vascular system and an endoskeleton of calcareous ossicles: 

 (a) Porifera (b) Hemichordata 

 (c) Echinodermata (d) Annelida 
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36- ,d ,sls ljhl`i dks igpkfu, ftlds ân; esa pkj izdks"B gksrs gSa& 

 (a) fNidyh (b) esa<d 

 (c) dNqvk (d) exjePN 

 Identify the reptile which bears four chambered heart: 

 (a) Lizard (b) Frog 

 (c) Tortoise (d) Crocodile 

37- ;fn dksjksyk la;qDr nyh :i esa gks] bl voLFkk esa iq"i dk dkSu lk ny la;qDr 

gS& 

 (a) ckány (b) ia[kqMh 

 (c) ijkxdks"k (d) Hkw.kZdks"k 

 Name the whorl of flower which is united in case of condition of fused 
corolla: 

 (a) Calyx (b) Petals 

 (c) Anther sac (d) Embryo sac 

38- ml izksfVLV dk uke crkb, ftldk vkdkj ^lkcqu ds fMCcs* dh rjg gksrk gS& 

 (a) ;wxyhuk (b) vehck 

 (c) Mk;Ve (d) IykTeksfM;e 

 Name the protist whose structure is like “Soap Case”. 

 (a) Euglene (b) Amoeba 

 (c) Diatem (d) Plasmodium 
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39- dod ds fdl oxZ dks viw.kZ dod Hkh dgk tkrk gS & 

 (a) ,LdksekbflVht (b) csflfM;ksekbflVht 

 (c) M~;wfVjksekbflVht (d) iQk;dksekbflVht 

 Which class of fungi is also called as imperfect fungi – 

 (a) Ascomycetes (b) Basidiomycetes 

 (c) Deuteromycetes (d) Phycomycetes 

40- fuf"ozQ; ifjogu] lfozQ; ifjogu ls vyx gS D;ksafd & 

(a) fuf"ozQ; ifjogu esa ATP pkfg, tcfd lfozQ; ifjogu esa ATP ugha 
pkfg,A 

(b) fuf"ozQ; ifjogu esa ATP ugha pkfg, tcfd lfozQ; ifjogu esa ATP 
pkfg,A 

(c) fuf"ozQ; ifjogu esa v.kq lnSo mPp lkanzrk ls fuEu lkanzrk esa xfr djsaxs 

tcfd lfozQ; ifjogu esa v.kq fuEu lkanzrk ls mPp lkanzrk dh vksj Hkh 

ifjogu dj ldrs gSaA 

(d) b rFkk c nksuksa 

 Passive transport and active transport are different from each other because: 

 (a) Passive transport need ATP while active transport does not need ATP. 

(b) Passive transport do not require ATP while active transport requires 
ATP. 

(c) In passive transport molecules always moves from their higher to 
lower concentration but in active transport molecules can move from 
the lower concentration to the higher concentration. 

 (d) Both b and c are correct. 
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41- dksf'kdk ds dkSu ls vax v/ZLok;Ùk gS & 

 (a) IykfLVM (b) ykblkslkse 

 (c) ekbVksdkafMª;k (d) a rFkk c nksuksa 

 Which organelles of cell are semi-autonomous : 

 (a) Plastids (b) Lysosomes 

 (c) Mitochondria (d) Both a & c 

42- ml is'kh dk uke crkbk tks ,sfPNd gS rFk tks Fkdrh gS & 

 (a) /kjhnkj is'kh (b) fpduh is'kh 

 (c) ân; is'kh (d) ek;ksfiQcfjy 

 Name the muscles which are voluntary and got fatigue : 

 (a) striated muscle (b) smooth muscle 

 (c) cardiac muscle (d) myofibril 

43- fjfDrdkvksa dk dk;Z gS & 

 (a) xyk;dksizksVhu cukus esa enn djukA 

 (b) izdk'k la'ys"k.k djukA 

 (c) dksf'kdk esa ty dk larqyu cukukA 

 (d) dksf'kdk dks lqj{kk nsukA 

 The function of vacuole is: 

 (a) To help in synthesis of glycoprotein. 

 (b) Performs photosynthesis. 
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 (c) Maintain water balance is cell. 

 (d) To provide protection to cell. 

44- dsanzd esa feyus okys inkFkZ dk uke crkb, tks {kkjh; jax ls jaftr gks tkrk gS& 

 (a) ghLVksu (b) ozQksesVhu 

 (c) dsanzd nzO; (d) vkj ,u , 

 Name the material which is found in nucleus and stained by a basic dye: 

 (a) Histones (b) Chromatin  

 (c) Nucleoplasm (d) RNA 

45- ^^ek;dksjkbtk** lgthfork gS & 

 (a) dod o 'kSoky (b) dod o fteukslieZ 

 (c) dod o czk;ksiQkbV (d) dod o ,aft;kslieZ 

 “Mycorrhiza” is symbiotic association of : 

 (a) Fungi and Algae (b) Fungi and Bryophytes 

 (c) Fungi and Gymnosperm (d) Fungi and Angiosperm 

46- eksusjk txr dk dkSu lk oxZ ukbVªkstu fLFkrhdj.k dj ldrk gS& 

 (a) vkjdhcsDVhfj;k (b) ;wcsDVhfj;k 

 (c) ekbdksIykTek (Mycoplasm) (d) buesa ls dksbZ ugha 

 Which class of kingdom Monera can fix nitrogen: 

 (a) Archaebacteria (b) Eubacteria 

 (c) Mycoplasma (d) None of the above 
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47- 'olfudk rFkk fMcaokfgu ufydkvksa esa dkSu lk mQrd ik;k tkrk gS & 

 (a) ljy midyk mQrd (b) la;qDr midyk mQrd 

 (c) i{ekHkh midyk mQrd (d) xzfFkay midyk mQrd 
 Which tissue lines Bronchioles and fallopian tubes: 
 (a) Simple epithelial tissue (b) Compound epithelial tissue 
 (c) Ciliated epithelial tissue (d) Glandular epithelial tissue 
48- Tokyk dksf'kdkvksa dk piVs d`fe esa D;k dk;Z gS & 

 (a) tho lanhIrh (b) ikpu 

 (c) mRltZu (d) fu"kspu 
 What is the function of flame cells in platyhelminthes: 
 (a) Bioluminiscence (b) Digestion 
 (c) Excretion (d) Fertilization 

[kaM&l (Section-C) 

[kaM&l esa oqQy 12 iz'u fn, x, gSa] fdUgha 10 ds mÙkj nhft,A 

Section-C contain 12 questions attempt any 10 questions. 
dsl vk/kfjr iz'u la[;k 49 ls 54 rd gSA 

Case based question are from Question No.49 to 54. 
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49- dkSu lk xq.k vksLVhdFkht eNfy;ksa esa ugha gksrh & 

 (a) buesa iV~VkHk 'kYd gksrs gSaA 

 (b) buesa ok;q dks"k gksrk gSA 

 (c) budh Ropk esa lkbDyks;M o Vhuks;ksM 'kYd gksrs gSaA 

 (d) ;s yo.kh; rFkk vyo.kh; nksuksa izdkj ds ty esa gksrh gSaA 

 Osteichthyes fishes do not have the feature of : 

 (a) They have placoid scales. 

 (b) They have air bladder. 

 (c) Their skin bear cycloid and ctenoid scales. 

 (d) It include marine and fresh water fishes. 

50- buesa ls fdl tho ds ân; esa rhu izdks"B ik, tkrs gSa & 

 (a) dkozQksp (b) rkjk eNyh 

 (c) esa<d (d) ysEizS 
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 Which organism have three chambered heart: 

 (a) Cockroach (b) Star fish 

 (c) Frog (d) Lamprey 

51- vlerkih thoksa ls vFkZ gS& 

 (a) os tho tks le tyok;q esa ugha jgrs gSaA 

 (b) oks tho tks vius 'kjhj dk rkieku fu;af=kr ugha dj ldrsA 

 (c) oks tho tks vius 'kjhj dk rkieku fu;af=kr dj ldrs gSA 

 (d) os tho tks le tyok;q esa jgrs gSA 

 Poikilotherm organism can be defined as : 

 (a) The organism which do not inhabit in even weather. 

 (b) The organism which cannot regulate their body temperature. 

 (c) The organism which can regulate their body temperature. 

 (d) The organism which inhabit in even weather. 

52- if{k;ksa ds dkSu lk ikn ia[k cukrs gSa& 

 (a) vxzikn (b) i`"Bikn 

 (c) eè;ikn (d) buesa ls dksbZ ugha 

 Which limbs of bird are modified as wings: 

 (a) Forelimb (b) Hind limb 

 (c) Middle limb (d) None of the above 
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53- cká ijthoh ds :i eas ik, tkus okys oVhZczsV gS & 

 (a) LdkyhMku (b) Ogsy 'kkoZQ 

 (c) gSx fiQ'k (d) leqnzh ?kksM+k eNyh 

 The vertebrate which exhibit ectoparasitism : 

 (a) Scoliodon (b) Whale shark 

 (c) Hag fish (d) Hippocampus 

54- vaMiztd Lruik;h tho dk uke crkbZ, & 

 (a) daxk# (b) mQaV  

 (c) IysVhil (d) dRyk 

 Egg laying mammal is: 

 (a) Kangaroo (b) Camel 

 (c) Platypus (d) Catla 

55. fuEufyf[kr esa ls dkSu vfLFk dks vfLFk ls tksM+rk gS & 

 (a) jDr (b) fyxkesaV 

 (c) U;wjkWu (d) midyk mQrd 

 Which of the following joins Bone to Bone: 

 (a) Blood (b) Ligament  

 (c) Neuron (d) Epithelial tissue 

56- ftl iq"i esa ik¡p ia[kqfM+;k¡ gksrh gS og iq"i dgykrk gS& 

 (a) VªkbisVsyl (b) VsVªkisVsyl 

 (c) isaVkisVsyl (d) iksyhisVsyl 
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 The flower bearing five petals are called as: 

 (a) Tripetalous (b) Tetrapetalous 

 (c) Pentapetalous (d) Polypetalous 

57- izksdsjs;ksfVd dksf'kdk esa dsanzd ds LFkku ij gksrk gS & 

 (a) U;wfDy;ksbM (b) jkbckslkse  

 (c) dksf'kdk nzo (d) IykTek f>Yyh 

 Inspite of Nucleus Prokaryotic cells have : 

 (a) Nucleoid (b) Ribosome 

 (c) Cytoplasm (d) Plasma Membrane 

58- dksykstu izksVhu dh frgjh laoqQfpr lajpuk dh [kkst djus okys oSKkfud gS & 

 (a) lh-oh- jeu (b) th-,u- jkepanzu 

 (c) ts-lh- cksl (d) vk;ZHkV~V 

 The triple helical structure of collagen protein was discovered by scientist: 

 (a) C.V. Raman (b) G.N. Ramachandran 

 (c) J.C. Bose (d) Aryabhatt 

59- mQtkZ dh eqnzk ds :i esa fdls tkuk tkrk gS & 

 (a) DNA (b) ADP 

 (c) ATP (d) RNA 

 Which of the following is known as the energy currency: 

 (a) DNA (b) ADP 

 (c) ATP (d) RNA 
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60- gksyks ,Utkbe dk izksVhu Hkkx dgykrk gS & 

 (a) dks,Utkbe (b) dksisQDVj 

 (c) izksLFksfVd xzqi (d) ,siks,Utkbe 

 Protein component of Holoenzyme is known as: 

 (a) Coenzyme (b) Co-factor 

 (c) Prosthetic group (d) Apoenzyme 




